EARAROBEEIERT — 2 N— IBISH —F

2019537168 (£) 2@ 7H

SOl T R3® KB [EE] B

EZS

& ‘ [RERSE] — | & (&) 12000 B

[A~&£] 17 5,000,000  ~ 23 :2,000,000H 37 :1,300,000

/47 1750,000 F 5 7& 500,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N KEFHRAR 112, - . . BEHL (EH)
1H AL TAEYST # 3 & 1(1_2)4 4-3 37.1| 86.8 | 1 ?831 A
LA bk—b B:TIFFLA Y B IS
_ ERE— 112, - . . RTRSE (El)
olglis| FLITATAH— SR e A it R B IR 4
:ANZZTNG BiFLTRAY— B
s e o= IIBs+ 2. - . . REZEZ ((8H)
N RO i3 i 1(132)9 1-1 37.9] 8.1 3 <4+720) e
Zox4n BT R KKT7 7 — L4
S i 3 | SHE2 1:13.0 2-2 37.9| 81.2 | 4 490 | BKER (%)
415|9 NT7IT 97 56.0 (3/4) (+6) ;47\/1 rN7Z T (#%)
L:T7TXXFTaN BIAZA<UT IR
# 3 | FlREX 1:13.0 9-8 37.0| 81.6 | 2 470 | KEERE ()
5 7 FILT) X b 56.0 (742%) -2) () BEHRS
LebhwHiO—)— B:xA 39K/ K/ B ELS
S - = B 3 | LHES 1:13.6 14-12 | 37.2| 76.1 | 11 472 | AR (EH)
68|16 ¥ T MATZH 54.0 3172 Crey | R
L:TL>FFE2T1 BieY bN-X ZY 42T 74— KiiS
> S . 4 3 | HHE 1:13.7 7-7 37.9| 74.9 | 10 | 428 |/NE—F (E#)
71510/ Pz M1INT TV T 54.0 2 E) (cay |HETEA
RBALINT Ry IR BiRISAETRUT FH)Tr—1
S P B3 | AEGHE 1:14.0 11-10 [37.9| 72.3 | 14 | 418 | LEEZ ()
8l714| ¥ 12777 ¥53.0 () (+4) | BEMAS
R:T7F1—=TTVI>7 B:T7TF—F—-XTLZX 7975 TT—L4
5 S 4 3 | FhEAR 1:14.0 12-10 [ 37.7| 723 | 7 460 | HBMREA (EH)
ol 11| # YLK 2540 2E) g | B FrF-L—vy
LNZ—ka1—X B:d-NFrOv R (B) A1 -FRL—-va>aEI7
2 it 3 | BEERTT 1:14.0 2-3 38.9(73.1| 8 430 |BMEZ (ER)
10(7[13 72/ 77 54.0 () ey | A
Rix v/ xeF BIXX/II— FIXTT—L
< = AN RLTREA 4. - . . WEHHEL (E@)
N At S R E KN
x> iv/FEx B Ea-IAVT ¥ @A
AHEEE : - HEZR (E#)
ol |s167705= (B] 4 3 e (11.114/.23) 14-12 | 37.9] 69.7 | 12 zg)e e
Lr—7752a BiAIINREIA =t =
: o K o3 | R 1:14.9 12-14 | 38.7| 64.7 | 13 | 456 |#AIEF (i)
AZXHF vy R £54.0 (31/2) (+6) KFER
L:T7ROXLTEL B by TIE— ERNHS
S it 3 | BEREAAR 1:15.5 7-8 39.8| 61.4 | 16 | 454 |HHRSE (E#)
T4 KU A51.0 3 1/2) 4y |NBEB
R:FHh¥<7128 B:Fv>RKLT7AR PAVE Rt
P35 3 | AIEER 1:16.0 9-14 40.1| 57.7 | 15 462 | RERM— (EH)
TEXZILXE—7 * A53.0 3) © %) YrxIL—2y
iy RXN—4 B:7)IXIIk LYz RT7—L4
= 4 3 | BhBE 1:16.6 16-16 [ 39.9| 52.2 | 9 506 | RaEk— (EiH)
7=<—h [B] 56.0 31/2) -2) e
L:8=/F¥LLy b B:Fa1-TF3-NLX H—L— - JviX> - T7—LARS
@ 71 L
) 49.2-37.4
NA>ZA L | 12.2-11.0-11.8-12.2-12.2-13.0
® I —F—@EBIERL
1T=7r=
20—7—
30—4— 8(9,13) (4,6,15)-(5,10) (2,7)14(3,11) (1,16)-12
40—7F— |8,9(4,13) (6,15)-10(7,5) (14,11)-(1,16) (2,3)-12
[ N3
BB 4 160/ 714K 4-15 510 e E 2-8 1,240 JEHE 4-8-15 2,550/
8 B 4 110 4-8 220M B = 4-15 1,670 B 4-15-8 9,610
15 300/ 8-15 1,370 | | B B 4-15 2,130
8 1604

ABICOVWTRDTEEERROODE. TR LIV,




